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R e | BT R | B2 | e | e | B2 | BT e | B2 | TR | & | e
1 100kN/m##B %% 1.00]0.00 ~ 3.51 156.69|3m%x#% %] 0.00 ~ 1.26 3.60 19.28| 100kN/m#%#B 2% 1.00] 10.55 ~ 42.00 156.69|3m%x# x5 25.00 ~ 42.00( 3.60 19.28
s 1.00{ 3.51 ~ 11.30 100.00f Z=h st | 1.26 ~ 11.30] 3.00 16.05 s 1.00] 5.00 ~ 10.55 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
9 100kN/m##8 %% 1.00{0.00 ~ 3.83 162.38|3m%x#%5[0.00 ~ 1.66| 3.89 20.81| 100kN/m#%#8% % 1.00] 10.87 ~ 41.37 162.38| 3m%x#E% 5| 25.00 ~ 41.37| 3.89 20.81
s 1.00] 3.83 ~ 11.62 100.00f Zh st | 1.66 ~ 11.62] 3.00 16.05 s 1.00] 5.00 ~ 10.87 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
3 100kN/mM##8 %% 1.00{0.00 ~ 3.99 165.20| 3m*x# %%/ 0.00 ~ 2.58| 4.33 23.15| 100kN/m#%#8% % 1.00] 10.96 ~ 50.16 165.20| 3m#%x#E% 5| 25.00 ~ 50.16| 4.33 23.15
s 1.00]3.99 ~ 11.77 100.00f Zh st | 258 ~ 11.77] 3.00 16.05 s 1.00] 5.00 ~ 10.96 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
4 100kN/m##B % % 1.00{0.00 ~ 3.97 164.87|3m%x##%5[0.00 ~ 2.46| 4.22 22.57| 100kN/mM#%#8% % 1.00] 10.70 ~ 51.83 164.87|3m%x#E% 5| 25.00 ~ 51.83| 4.22 22.57
s 1.00]3.97 ~ 11.75 100.00f Zh st |2.46 ~ 11.75] 3.00 16.05 s 1.00] 5.00 ~ 10.70 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
5 100kN/m##B %% 1.00]0.00 ~ 3.91 163.74| 3m%x#%%[0.00 ~ 240 4.16 22.27| 100kN/mM#%#8% % 1.00] 10.61 ~ 50.19 163.74| 3m%x#E% 5| 25.00 ~ 50.19| 4.16 22.27
s 1.00] 391 ~ 11.69 100.00f Zh st | 240 ~ 11.69] 3.00 16.05 s 1.00] 5.00 ~ 10.61 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
6 100kN/m##8 %% 1.00{0.00 ~ 3.65 159.09|3m%x#%%(0.00 ~ 2.17| 3.98 21.32| 100kN/m#%#8% % 1.00] 10.55 ~ 53.95 159.09| 3m#*#E% 5| 25.00 ~ 53.95| 3.98 21.32
s 1.00] 3.65 ~ 1143 100.00f Zhlst | 217 ~ 11.43] 3.00 16.05 s 1.00] 5.00 ~ 10.55 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
7 100kN/m##B %% 1.00]0.00 ~ 281 144.51|3m%x##8%%[0.00 ~ 1.77| 3.72 19.93| 100kN/m#%#B 2% 1.00] 11.31 ~ 52.89 144.51|3m%x# x5 40.00 ~ 52.89 3.72 19.93
Lo 1.00] 2.81 ~ 10.60 100.00f Z=h st |1.77 ~ 10.60| 3.00 16.05 Lo 1.00] 500 ~ 11.31 100.00| =hList | 500 ~ 40.00| 3.00 16.05
100kN/MZ#8 2 % ~ 3ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ st ~
100kN/ MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ st ~
100kN/mM%#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ st ~
100kN/mMZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/M%#28 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zh st ~ zhs ~ zhst ~ st ~
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